
341831.02 r18 2022-01 PC M4.55_M4.56
23 02 2022

5-1 1

M4.55 M4.56 Vliegwielhuis TMC60 Flywheel housing TMC60

pos. qty part benaming description

1 1 STM7566 Vliegwielhuis ø 88 Flywheel housing ø 88

2 2 STM3813 Paspen 10x12 DIN7 Pin 10x12 DIN7

3 1 STM7053 Bout M12x1,25x30 Bolt M12x1.25x30

4 1 STM4003 Veerring M12 Spring washer M12

5 4 STM7053 Bout M12x1,25x30 Bolt M12x1.25x30

4 16-4138 Inbusbout M12x1,25x30 Allen screw M12x1.25x30

6 4 STM4056 Gegolfde veerring M12 Wave spring washer M12

- STM4056 Gegolfde veerring M12 Wave spring washer M12

7 6 STM7059 Bout M8x1,25x30 TMC60 Bolt M8x1,25x30 TMC60

6 STM1610 Bout M8x1,25x25 TMC60M Bolt M8x1,25x25 TMC60M

6 STM7059 Bout M8x1,25x30 TMC60E Bolt M8x1,25x30 TMC60E

8 6 STM1019 Gegolfde veerring M8 Wave spring washer M8

9 6 STM4055 Bout M8x1,25x16 Bolt M8x1.25x16

10 6 STM1056 Veerring M8 Spring washer M8

11 1 STM4104 Demperplaat DIN splines z=10 Damperplate DIN splines z=10

2

6

11

10

3
4

9

2

1

5

5

8
7


